
1) Complete the gaps with affirmative form of verb TO BE. 

  

 

1.  Peter  English. 

2. Germany and France  in Europe. 

3.  I  from Japan. 

4. My friends  Colombian. 

5.  John and I  in Italy now. 

6. Susan  American. 

7. Ahmed and Tarik  from Morocco. 

8. The Andalusian flag  white and green. 

9. I  a doctor. 

        10.  The table  very big. 

 

 

2) Order the words to form a right sentence. 

 

 

1. France. / from / is / My father :      My 

father    

2. are / brothers. / John and Peter:     John and 

Peter   

3. 24 / am / I / old. / 

years:               I     

4. African. / is / My friend Dereje:         My friend 

Dereje   

5. is / South America. / Ecuador / 

in:    Ecuador     

 

 

 

 

 

 



3) Complete the sentences with the negative form of verb TO BE. Use contraction 

forms(‘m not, aren’t, isn’t). 

 

1.Sally  from Argentina 

2.Peter and Joana  in London now. 

3.The Greek flag  red and black. 

4.I   English. 

5.Marta and I  German. 

6.Hans  in Japan. 

7.The boys  at school. 

8.The girl  from Spain. 

9.The banana  blue. 

10.Tomatoes  pink. 

 

4) Transform the sentences into interrogative. 

 

Ej: You are a student. Are you a student? 

1. She is Australian. _____________________________? 

2. They are From England. ________________________ ? 

3. It is pink. ____________________________________ ? 

4. Lorenzo is from Spain. ___________________________ ? 

 

 

Choose the correct option. 

  

1. I ______ English. 

 
a. am 

 
b. are 

 
c. is 

 



2. Susan and Peter ________ from England 

 
a. am 

 
b. are 

 
c. is 

3. My friend Tom ______ 25 years old. 

 
a. am 

 
b. are 

 
c. is 

4. Charlie and I _______ very good friends. 

 
a. am 

 
b. are 

 
c. is 

5. ________ my father and my mother very old? 

 
a. Am 

 
b. Are 

 
c. Is 

6. I _______ from Scotland, I ________ English. 

 
a. am a. am not 

 
b. are b. aren’t 

 
c. is c. isn’t 

7. Málaga ________ in Italy. 

 
a. am not 

 
b. aren´t 

 
c. isn’t 



8. Mary and Joanne ________ 31 years old. 

 
a. am 

 
b. are 

 
c. is 

9. ________ James a doctor? 

 
a. Am 

 
b. Are 

 
c. Is 

10. I _________ Spanish. 

 
a. am 

 
b. are 

 
c. is 

 

 

6) Complete the text with affirmative or negative form of verb TO BE. 

 

My name  Peter. I  from the USA, 

I  American. My friend María  American: 

she  from Granada in Spain. We  very good friends. María 

and I  very old: María  22 years old and 

I  26. Now we  in London on holidays. 

 


